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Oll&F X 0 204

37E ¢ YHHSIIS

OPN=EINEF (Ch9: M)

&= ol A = Xl & Al =
& = 2] oH ME T~ s &t = INE FSIS NS s

=) A 313,000 318, 111 A5,111| & p.| 313,000 318, 111 A5, 111
X el = 0 0 H 8 & & A Y I 8,000 10,000 A2,000
Sl E = 0 0 0|8 X & Ab & d 0 0 0
xt ol 2 0 0 ojer & 2 o 4 0 0 0
B M %2 S 0 0 021 = & 0 0 0
e3e3s > 0 0 0] ol & 2 0 0 0
o x 2 3 % 308,000 312,563 A4,563 | G x| 2 305,000 308, 111 A3,111
ol e 2 0 0 0|t =2eel2as 0 0 0
o X %= < 5,000 5,548 A548| 0l =2 2l 2 4 & 0 0 0
o g % ¢ 0 0 02 & X = 0 0 0




SIHAL 20174
GIAXIZ ¢ =0)e
S BRI
@ e/ el 28
soEs olo8 oo 52 & B U
200 Mgl 5,000 5,548 Ab48
210 B EAN2A= 5,000 5,548 Ab48
216 Ol Kt 5,000 5,548 Ab48
216-06  JIEHOIRt==& 5,000 5,548 Ab48
OuI= 01kt 5,000,000& = 5,000
700 S-S HH 308,000 312,563 AN4,563
710 BHUS 308,000 312,563 A4,563
714 HXlI3=2l= 308,000 312,563 A4,563
71401 GIXI=3l= 308,000 312,563 A4,563
020164 GIXl= 308,000,000& = 308,000
= g g A 313,000 318,111 A5, 111
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Oll&F X 0 204
37E ¢ YHHSIIS
® N&EAHE (Crel: M)
IE S22 . FHH . O HIRAR - BAS x| & rSIELIEL ClimE==]
(CP=plESN] 313,000 318,111 A5, 111
2% . JIF20i4 313,000 318,111 A5, 111
=R X 8,000 10,000 A2,000
OIAD JIE0| =5 AS| M (SAAESI|Z) 5,500 7,500 A2,000
YHESTHM =& 5,500 7,500 A2,000
201 LBH2AH| 2,500 4,500 A2,000
B A 2,500 2,500 4,500 22,000
OGES2IHLAUNENY T2 2 2,000
o= A0 80,0002 *55 = 400
c2ARE(MBH S) 1,600,0002! = 1,600
OGS A X 500
CUMHESTI|EHMAI, SR BHO S
500,0008 = 500
301 LBtAla 3,000 3,000 0
09 SHAMAHIBAIR 3,000 3,000 3,000 0
O0ASINLAAI™IY T2IUSH LA
150,00024%203] = 3,000
220|004 L LIS NS(AHBSI|2) 2,500 2,500 0
CHRSIOHE AL X 2,500 2,500 0
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Ol &b Xb= o 20 &
7=z - dEESIIS

(- &J)
ot qs| o & & o ton
s W@ | Moz | Bxa | oz | Z8% | gao Ol Xt JIE H ©® HEXS | SN | azseu | U3 | 632 | D|E (@___'@)
ga | EXs 55 | (omzs) TS | a9 20 AHL | AMH| |2 o3| 213 | ti3as | KIS

20114 DX 363,628 | 290,000 0 0 0 0 73,628 0 54,717 54,717 0 0 0 0 0 308,911
20129 & 10, 168 0 0 0 0 0 10, 168 0 9,001 9,001 0 0 0 0 0 1,167
20139 & 9,587 0 0 0 0 0 9,587 0 4,312 4,312 0 0 0 0 0 5,275
201449 & 8,586 0 0 0 0 0 8,586 0 11,119 11,119 0 0 0 0 0 A2,533
201549 & 6,434 0 0 0 0 0 6,434 0 6,691 6,691 0 0 0 0 0 N257
20169 & 5,437 0 0 0 0 0 5,437 0 10,000 10,000 0 0 0 0 0 AN4,563
201749 & 5,000 0 0 0 0 0 5,000 0 8,000 8,000 0 0 0 0 0 23,000
Al 408,840| 290,000 0 0 0 0| 118,840 0| 103,840| 103,840 0 0 0 0 0 305,000
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OllAFXES= 0 20fIAH
3 2 YHESI|I=
= | Crol: &
OIXI & Ofl k!
= Ofl XI (E
Q& X} oH 2016 U THH®@ 017HCLETHUO (®-®@)
=] 312,563 308,000 305,000 A3,000
ol x =2 A 312,563 308,000 305,000 A3,000
EINE=E-!] 312,563 308,000 305,000 A3,000




